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al
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a1
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4e
X

1X

alpha13_4eX1X:cyclenum {run == 7183}
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alpha46_4eY4aY:cyclenum {run == 7183}
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0.43−

0.425−

0.42−
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de
lta
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delta13_12X4eX:cyclenum {run == 7183}
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delta46_12X4eY:cyclenum {run == 7183}
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run:cyclenum {run == 7183}
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segment:cyclenum {run == 7183}
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cyclenum

100−

80−

60−

40−

20−

0

us
l_

1X
usl_1X:cyclenum {run == 7183}

8286 8286.2 8286.4 8286.6 8286.8 8287
cyclenum

0

0.5

1

1.5

2

2.5

3

3.5

4

4.5

5

us
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usl_4aY:cyclenum {run == 7183}
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usl_4eX:cyclenum {run == 7183}
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usl_4eY:cyclenum {run == 7183}
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usl_12X:cyclenum {run == 7183}
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run:cyclenum {run == 7183}
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1X
usr_1X:cyclenum {run == 7183}
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usr_4aY:cyclenum {run == 7183}
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usr_4eX:cyclenum {run == 7183}
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usr_4eY:cyclenum {run == 7183}
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usr_12X:cyclenum {run == 7183}
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run:cyclenum {run == 7183}



8286 8286.2 8286.4 8286.6 8286.8 8287
cyclenum
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31700

31800

31900

32000

32100

32200

32300

32400

32500

us
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usl_coil1:cyclenum {run == 7183}
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cyclenum

6410

6420
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6440

6450

6460

6470

6480
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il3

usl_coil3:cyclenum {run == 7183}
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usl_coil4:cyclenum {run == 7183}
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usl_coil6:cyclenum {run == 7183}
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usl_coil7:cyclenum {run == 7183}
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run:cyclenum {run == 7183}
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usr_coil1:cyclenum {run == 7183}
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usr_coil3:cyclenum {run == 7183}
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usr_coil4:cyclenum {run == 7183}
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usr_coil6:cyclenum {run == 7183}
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usr_coil7:cyclenum {run == 7183}
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run:cyclenum {run == 7183}
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1X_coil1:cyclenum {run == 7183}
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70−

69.5−
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1X_coil3:cyclenum {run == 7183}
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1X_coil7:cyclenum {run == 7183}
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4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7183}

8286 8286.2 8286.4 8286.6 8286.8 8287
cyclenum

94−

93.5−

93−
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4eX_coil3:cyclenum {run == 7183}
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4aY_coil4:cyclenum {run == 7183}
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4aY_coil6:cyclenum {run == 7183}
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4aY_coil7:cyclenum {run == 7183}
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4eY_coil6:cyclenum {run == 7183}
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8286 8286.2 8286.4 8286.6 8286.8 8287
cyclenum

246−

244−

242−

240−

238−

236−12
X

_c
oi

l1
12X_coil1:cyclenum {run == 7183}
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12X_coil3:cyclenum {run == 7183}
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12X_coil7:cyclenum {run == 7183}
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run:cyclenum {run == 7183}
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